	PM Shri Kendriya Vidyalaya No. 4 Bathinda Cantt										
	Assessment sheet of candidate for empanelment of teachers(Contract basis) for session: 2025-26 for the post of PGT MATHS										
S.No.	Name of Candidate				_	MEMBER 4 (40)	TOTAL (160)	Position			
1	RAMANDEEP SINGH	KARAM SINGH	21	19	19	21	80	1st			
2	EKTA RANI	ASHOK KUMAR	15	16	14	15	60	2nd			

		Members of Select	ion Committee:	
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4
NAME	MR. KULBIR SINGH	MR JITENDER SINGH	MRS. SOMJIT KAUR	MAJOR MANORANJAN BARUA
DESIG.	PRINCIPAL	PGT (MATHS)	TGT(MATHS)	CHAIRMAN NOMINEE
SIGN	V	3	Dans	(my)

प्राचार्य/Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 बठिंडा छावनी BATHINDA CANTT.

CHAIRMAN,VMC KV4 BATHINDA CANTT CHAIRMAN V.M.C. K.V. No. 4 Bathinda Cantt.

	nt Assessment	sheet of candidate for emp	panelment of teacher	rs(Contract basis) for	session: 2025-26	for the post of PG1	HINDI	
5.No.	VI Name of Candidate	Father's Name	MEMBER 1 (40) MEMBER 2 (40) MEMBER 3 (40) MEMBER 4 (40)					POSITION
1	SUDEȘH KUMARI	DALCHAND	ABSENT					
2	VEERU RAM	GURDITA RAM	2 - 100	ABSENT				
3	HEERA SINGH	BALWINDER SINGH	ABSENT					
4	RUPESH KUMARI	GHAMANDI LAL	ABSENT					
5	NISHA RANI	SANJEEV KUMAR	20 23 12 18				73	2nd
6	NEETU	RAM MILAN	25	27	20	21	93	1st
	- 10 W 10 D - 10 D D	A STATE OF THE STA						
		3.2.1				· · · · · · · · · · · · · · · · · · ·		

	ti	Members of Sel	ection Committee:			
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4		
NAME	MR. KULBIR SINGH	MR K D CHARAN	MR RAJESH KUMAR	MAJOR MANORANJAN BORA		
DESIG.	PRINCIPAL	PGT HINDI	TGT HINDI	CHAIRMAN NOMINEE		
SIGN		By Jan	Ny .	MM		

प्राचार्य Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 यिंडा छायनी BATHINDA CANTT. CHAIRMAN,VMC

KV4 BATHINDA CANTT

	• Assessmer	nt sheet of candidate for empanein	ri Kendriya Vidyalaya N nent of teachers(Contract			ost of PGT CHEMIS	TRY	
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	Position
1	KIMMY	BHARAT BHUSHAN GOYAL	25	26	28	26	105	1st
2	DEEPTI SHARMA	HEMRAJ PANCHAL	16	17	15	18	66	3rd
3	RISHU RANI	PARVEET KUMAR N	ABSENT					
4	EENA GOYAL	JITESH BANSAL	16	16	14	17	63	4th
5	GAGANDEEP SINGH	HARVINDER SINGH	23	27	27	24	101	2nd
	(p. jacoban Constitution Const	2.0000000000000000000000000000000000000						
-+								

1	Members of Selection Committee:										
	MEMBER 1	MEMBER 2 R	MEMBER 3	MEMBER 4							
NAME	MR. KULBIR SINGH	MRS. PURNIMA BHARDWAJI	MRS. MANJU LATA	MAJOR MANORANJAN BORA							
DESIG.	PRINCIPAL	TGT (BJOLOGY) (. PGT(CHEMISTRY)	CHAIRMAN NOMINEE							
SIGN		Junia 1/2 ps	19/02/2025	(h) m/							

प्राचार्य/Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 विडंडा छावनी BATHINDA CANTT. CHAIRMAN,VMC KV4 BATHINDA CANTT

Remarks	TOTAL					sheet of candidate for em		
_	(160)	MEMBER 4 (40)	MEMBER 3 (40)	MEMBER 2 (40)	MEMBER 1 (40)	Father's Name	Name of Candidate	S.No.
			T	ABSEN		MEER SINGH	NITISH KUMAR	1
2nd	57	14	13	15	15	Satyapal	Ravi	2
1st	108	26	28	29	25	Surjeet Singh	Kuldeep Kaur	3
								4
								5
							7, 190	
							operate to	
							1	
							,	
-								

	Members of Selection Committee:									
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4						
NAME	MR. KULBIR SINGH	DR RAJESH KUMAR	MRS NISHA WALIA	MAJOR MANORANJAN BORA						
DESIG.	PRINCIPAL	PGT GEOGRAPHY	PGT HISTORY	CHAIRMAN NOMINEE						
SIGN	0.	leguller	Prohi	ann						

CHAIRMAN,VMC

KV4 BATHINDA CANTT

CHAIRMAN V.M.C. K.V. No. 4 Bathinda Cantt

प्राचार Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 विजंडा छावनी BATHINDA CANTT.

	Assessment s	heet of candidate for en	panelment of teachers	(Contract basis) for	session: 2025-26	for the post of PG	IT POL SC.		
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	Position	
1	Parwinder Singh	Charnjeet Singh		ABSENT					
2	Naresh Kumari	Shawinder Singh	29	30	31	30	120	1st	
3	Manisha Rani	Avtar Singh	26	27	24	25	102	2nd	
4	Manpreet singh	Mela singh		ABSENT					
5	Ajitpal Singh	Sahib Singh	20	19	21	20	80	3rd	
				,					
_									
1-2			<u>.</u>						

Mi !		Members of Sel	ection Committee:	
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4
NAME	MR. KULBIR SINGH	MR SATPAL SINGH	· MR PAWANPREET SINGH	MAJOR MANORANJAN B A R UA
DESIG.	PRINCIPAL	PGT ECONOMICS	ASST. PROFESSOR	CHAIRMAN NOMINEE
SIGN		\$31	lagart Justi.	Gray

प्राचार्य/Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 यठिंडा छावनी BATHINDA CANTT, CHAIRMAN,VMC KV4 BATHINDA CANTT CHAIRMAN V.M.C. K.V. No. 4 Bathinda Cantt.

	→Assessi	ment sheet of candidate for	empanelment of teachers(Co	ntract basis) for session	2025-26 for the po	ost of PGT HISTORY	•	
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	Remarks
1	Gagandeep Singh	Major Singh	8	6	8	10	32	3rd
2	GURJEET SINGH	MEHANGA SINGH	24	26	28	25	103	1st
3	Shubh Lata	Satyanarayan	15	8	11	10	44	2nd
4	PRIYANKA SHARMA	DEEPAK SHARMA	8	2	5	5	20	4th
5								
-								

		Members of S	election Committee:	
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4
NAME	MR. KULBIR SINGH	Mrs NISHA WALIA	Dr. RAJESH KUMAR	MAJOR MANORANJAN BARUA
DESIG.	PRINCIPAL	PGT HISTORY	PGT GEOGRAPHY, APS BTI	CHAIRMAN NOMINEE
SIĞN	0 / .	Malie	legisting	Comment.

प्राचार्क Principal केन्द्रीय विद्यालय नः ४ K.V. No. ४ विद्धा छावनी BATHINDA CANTT. CHAIRMAN,VMC

KV4 BATHINDA CANTT

CHARAIAN V.V. K.V. Bathin

	Assess	ment sheet of candidate	for empanelment of teach	idyalaya No. 4 Bathi ers(Contract basis) for	r session: 2025-26 f	or the post of PGT	BIOLOGY	
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	Remarks
1	HARPREET KAUR	AVTAR SINGH		ABSEN	IT .			
2	MANMEET KAUR	RAJVIR SINGH	ABSENT					
3	DHIRPAL	JODH SINGH			,			
4	HARMANSIRAT	BALDEV SINGH	10	12	10	8	40	
	30							
	70.1							
	757							
\top	THE STATE OF							

		Members of Sele	ction Committee:		
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4	
NAME	MR. KULBIR SINGH	MR NARENDER VERMA	MRS MANJU LATA	MAJOR MANORANJAN BORA	
DESIG.	PRINCIPAL	PGT BIO	PGT CHEMISTRY	CHAIRMAN NOMINEE	
SIGN	1	Wair	Dilling	Mm	

प्राचार्क्स Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 बठिंडा छावनी BATHINDA CANTT. CHAIRMAN,VMC

KV4 BATHINDA CANTT

ChadridaN V.M.C. K.V. No. 4 Rathinda Cantt.

			PM Shri Kendriya	Vidyalaya No. 4 Bat	hinda Cantt				
	Assessme	nt sheet of candidate for	empanelment of tead	chers(Contract basis)	for session: 2025-	26 for the post of T	GT ENGLISH		
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	Position	
1	Deepinder Singh	Dilraj Singh	20	21	23	22	86	2nd	
2	Bharti	Himanshu kumar							
3	Rani kumari	Anil kumar		ABSENT					
4	MANPREET SINGH	KARNAIL SINGH		ABSENT					
5	TRISHU SHARMA	NARINDER SHARMA	30	37	36	31	134	1st	
511									
	e p								

	Y-MIT TO THE REAL PROPERTY.	Members of S	election Committee:	
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4
2000 C C C C C C C C C C C C C C C C C C			MRS NAVPREET KAUR	MAJOR MANORANJAN BORA
NAME	WIN. ROLDING	PGT ENG	TGT ENG	CHAIRMAN-NOMINEE /
DESIG.	PRINCIPAL	PGTENG		Ju Will
	h /	July 20	Naprity-	W. P.
IGN		416		0
	* .	V		

CHAIRMAN V.M.C. K.V. No. 4 Bathinda Cantt.

प्राचार्य/Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 विडंडा छावनी BATHINDA CANTT.

			PM Shri Kendriya	Vidyalaya No. 4 Bat	hinda Cantt			
	Assessn	nent sheet of candida	te for empanelment of to	eachers(Contract basi	s) for session: 202	5-26 for the post of	TGT SKT	
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	REMARKS
1	POONAM CHAND	SATBIR	30	25	26	28	109	
2								
3								
4								
5								
6								
7								
8								

		Members of Sel	ection Committee:	
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4
NAME	MR. KULBIR SINGH	MR K D CHARAN	MR N K SHARMA	MAJOR MANORANJAN BORA
DESIG.	PRINCIPAL	PGT HINDI	TGT SKT	CHAIRMAN NOMINEF
SIGN		(2 db)	113 Blen	July hal

प्राचार्य/Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 बठिंडा छावनी BATHINDA CANTT.

			PM Shri Kendriya \	/idyalaya No. 4 Batl	hinda Cantt				
t.	Assessme	nt sheet of candidate fo	or empanelment of tea	chers(Contract basis)	for session: 2025	5-26 for the post of	TGT HINDI	_	
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	POSITION	
9 1	Anu Rani	Parmjeet Sharma		ABSEN					
2	Kamaljeet kaur	Gurmeet singh		ABSENT					
3	Ruby Rani	Jagseer Singh	10	11	13	11	45	2nd	
4	Priyanka Sharma	Deepak Sharma	15	15	12	14	56	1st	
5									
	f actor								
	45.5								
	-11.4								

21		Members of Sel	ection Committee:	
,	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4
-	MR. KULBIR SINGH	MR K D CHARAN	MR RAJESH KUMAR	MAJOR MANORANJAN BORA
A NAME		PGT HINDI	TGT HINDI	CHAIRMAN NOMIŅEE
DESIG.	PRINCIPAL	Ash	Ku-	July M
SIGN		(BEH		

> CHAIRMAN V.M.C. K.V. No. 4 Bathinda Cantt.

प्राचार्य Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 विडेडा छावनी BATHINDA CANTT.

		F	PM Shri Kendriya Vid	yalaya No. 4 Bathii	nda Cantt				
	Assess	ment sheet of candidate for	empanelment of teac	hers(Contract basis) i	for session: 2025-	26 for the post of	TGT SST		
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	Remarks	
1	VEERPAL KAUR	MITHU SINGH		ABSENT					
2	DEEPINDER SINGH	DILRAJ SINGH	10	20	5	11	46	4TH	
3	Nirmala Yadav	Pawan Kumar Yadav	ABSENT						
4	Ram Lal	Ram lubhaya			ABSENT				
5	KONIKA	OM PARKASH			ABSENT				
6	Mohanjeet Singh	Bhola singh	25	23	25	26	99	2ND	
7	Saksham	Sh. Ram Kumar		•	ABSENT				
8	SHUBHLATA	MANOJ KUMAR	30	30	33	32	125	1ST	
9	SUBHNAM	MOHD. LATIF	18	17.5	17.5	20	73	3RD	

	100 mg 1 mg - 200 mg	Members of Select	ion Committee:		
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4	
NAME	MR. KULBIR SINGH	MR. PAWANPREET SINGH	MR. RAJESH KUMAR	MAJOR MANORANJAN BORA	
DESIG.	PRINCIPAL	ASST., PROF.	PGT, GEO.	CHAIRMAN NOMINEE	
SIGN		land from.	lajerthe	man	

प्राकृषि/Principal केन्द्रीय विद्यालय नं: 4 K.V. No. 4 यटिंडा छावनी BATHINDA CANTT.

CHAIRMAN,VMC KV4 BATHINDA CANTT

			PM Shri Kendriya	Vic	iyalaya No. 4 Bat	hinda Cantt			
	Assessment	sheet of candidate for e					5-26 for the post of	TGT SCIENCE	
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	1) MEMBER 4 (40)	TOTAL (160)	Remarks
1	ANAGHA AP	Sourab shyleshan	(40)		MEMBER 2 (40)	Absent)	10142 (160)	Remarks
2	Sherinderjeet Singh	Sukhwinder Singh	Absent						-
3	Saloni Rupal	Mr.Parminder Singh	Absent						
4	Kavish kumar	Harbans lal	20		24	15	22	81	1st
5	Pars Mani	Rakesh Kumar	- 20		24	Absent	22		130
6	BHAWNA	JANAK RAJ BANSAL				Absent			
7	Shinam	Ved Parkash		*		Absent			
8	Deepti sharma	Hemraj panchal	18		23	13	20	74	2nd
							1	ļ	-
							-		

	Members of Selection Committee:									
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4						
NAME	MR. KULBIR SINGH	Mrs.PURNIMA	MRS. MANJU LATA	MAJOR MANORANJAN BORA						
DESIG.	PRINCIPAL	TGT SCIENCE	PGT CHEMISTRY	CHAIRMAN NOMINER						
SIGN	1	lumb	المثلاثين	man						

> CHAIRMAN V.M.C. K.V. No. 4 Bathinda Cantt.

प्राम्नर्थ/Principal कॅन्द्रीय विद्यालय नं: 4 K.V. No. 4 बठिंडा छावनी BATHINDA CANTT.

		PM Sh	ri Kendriya Vidya	laya No. 4 Bat	hinda Cantt				
Assessment sheet of candidate for empanelment of teachers (Contract basis) for session: 2025-26 for the post of TGT PUNJABI									
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)	MEMBER 2 (40)	MEMBER 3 (40)	MEMBER 4 (40)	TOTAL (160)	POSITION	
1	NEERU SHARMA	MOOL SHANKAR SHORI	ABSENT						
2	AMANDEEP KAUR	GURDEV SINGH	ABSENT						
3	GAGANDEEP SINGH	MAJOR SINGH	ABSENT						
4	SANDEEP KAUR	DARSHAN SINGH	ABSENT						
5	AMANPREET KAUR	HARWINDER SINGH	ABSENT						
6	SUNITA RANI	UJJAGAR SINGH	25	25	24	27	101	3rd	
7	HARPREET KAUR	RANJIT SINGH	ABSENT						
8	NEETU SHARMA	DR.SUDHIR SHARMA	ABSENT						
9	GAGANDEEP KAUR	TARA SINGH	ABSENT						
10	PARMPAL KAUR	DARSHAN SINGH	ABSENT						
11	ANEETA RANI	JAGDISH CHAND	ABSENT						
12	POOJA RANI	NARESH KUMAR	ABSENT						
13	PRABJOT SHARMA	CHITRANJAN SHARMA	ABSENT						
14	GURPREET KAUR	KASHMEER SINGH	ABSENT						
15	GURADITTA SINGH	SUKHMANDER SINGH	24	20	22	23	89	5th	
16	VEERPAL KAUR	GURPREET SINGH	26	29	30	28	113	1st	
17	GURBHINDER KAUR	SUKHMANDER SINGH	ABSENT						
18	KANWARPAL SINGH	BALWINDER SINGH	25	28	29	28	110	2nd	
19	PRABHJOT SHARMA	VEERPAL SHARMA	NOT ELIGIBLE						
20	KULDEEP SINGH	VEER SINGH	24	23	24	24	95	4th	
	Members of Selection Committee:								
	MEMBER 1	MEMBER 2	MEMBER 3	MEMI	BER 4				

MRS. KULVIR KAUR

TGT(ENGLISH)

DR. SATINDER KAUR

PROF. DAV COLLEGE

MAJOR MANORANJAN BARUA

CHAIRMAN NOMINEE

प्राचार्य/Principal केन्द्रीय विद्यालय नः ४ K.V. No. 4 बठिंडा छावनी BATHINDA CANTT

NAME

DESIG.

MR. KULBIR SINGH

CHAIRMAN,VMC KVERAZHEVRACANTT V.M.C. K.V. No. 4 Bathinda Cantt.

		PM Shr	i Kendriya Vid	lyalaya No. 4	Bathinda Ca	ntt	•	
	Assessment she	et of candidate for emp					st of TGT MATH	S
S.No.	Name of Candidate	Father's Name	MEMBER 1 (40)			MEMBER 4 (40)	TOTAL (160)	POSITION
1	RAM PARTAP	ARJUN DASS	ABSENT					
2	PARVEEN KAUR	SHWINDER SINGH	ABSENT					
3	HARLOVEPREET KAUR	HARTEJ SINGH	ABSENT					
4	ARSHDEEP SINGH	SUKHDEEP SINGH	22	20	21	20	83	2nd
5	SHINAM	VED PARKASH	19	18	20	21	78	3rd
6	ROHIT	RAJBIR	ABSENT					
7	MAMTA DEVI	SH.RAKESH SHARMA	ABSENT					
8	BHAWNA	JANAK RAJ BANSAL	24	21	24	22	91	1st

Members of Selection Committee:								
	MEMBER 1	MEMBER 2	MEMBER 3	MEMBER 4				
NAME	MR. KULBIR SINGH	MR JITENDER SINGH	MRS. SOMJIT KAUR	MAJOR MANORANJAN BARUA				
DESIG.	PRINCIPAL	PGT (MATHS)	TGT(MATHS)	CHAIRMAN NOMINEE				
SIGN	प्राचार्क्स Principal	37.	Skaus	May				

प्राचास्त्र शिंगcipal | ट्रिक्ट्रीय विद्यालय नं: 4 K.V. No. 4 बठिंडा छावनी BATHINDA CANTT. CHAIRMAN,VMC KV4 BATHINDA CANTT